1 (Pre aration
rx N u m be r ° Cut;tlthe nt%mbe(; trail
cards along the re

MATH{ dotted line. You should
M r have 20 trail cards. ~_ -

Hide these randomly

around the house.
Z;qf InSt ru Ctlons e Give each child
% a number trail

(
answer sheet. \2

How to play

e Choose any number trail card to start.

e Find the number trail card
with the answer 32 in the circle.
card has a question on it. ’\\ e This card has a new

question which will lead
° '\N‘ork ou’g the answer and record to another answer.
it in the first box of the number
trail answer sheet. \/ e The game is finished when

all 20 boxes are complete

e The bottom half of the

The example on the trail answer sheet. e
question -
here is 8 x 4, @Q@.DD
and the b -
answer (32) D) ’535 Number -
is recorded O M’Wf Tr )
on the answer ) {6031 Answer Sheet ()
sheet. )
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Mire We M Mirie
2371 221 | 231 2371
s v : v | : v : v
430,020
| have Write four
£78.50. | hundred | .
How much @ and thirty 120 + 120 Write 1300
: : as a Roman
mohney do | thousand | + 120
: | Numeral
| need to - and twenty

make £100? as a number



:; :; 5 5; s&
K%, K, | K%, K%
M’igﬁ{ Mﬁ?fﬁeg ; Mﬁ”fﬁeg Mﬁ’fﬁeg
23] 237 | ;21 ;31
(oq \ (07 5 \ (oq \ (07

Which is
the largest
number? ; 5
41,041 ~ 70+60+ 48,821 +
14,921 i 40 + 30 i 1,000
40,999 ’ |
41,401

0.8 + 0.3



Double 75

| have 450¢g
of flour. How
many grams
do | need to
have 1kg?

O\ O\
/ /
=Yl | =¥
ﬁ',;’oﬁ’?fﬁeg ; %ifﬁeg
e | G VE
12 371 | 12 371
0 5 /0

Which is
the largest
number?
17,071
17,771
17,107

3Xx9
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K%, K%, K%, K%,
MATH< MirH< MirH< MirH<
Mo V e M oyfﬁe M oyfﬁe M ol/fﬁe
G VE GV G VE s
221 221 231 231

: v : v v : v

| have £13.50.

II-IT?;\:\:‘ uccl:: E - Write 425
4 -8+ i 8 x 12 - as a Roman
| need to : | e

make £20?



-2+10

BO x5

It is 8:45am.
How many
minutes until
midday?

Write seven
hundred and
twenty five
thousand as
a humber



